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O 7= 10,299 +35A1 2+ 16H »12& 69,210
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02 DBt B == 185,006 175,272 9,734
© FY3F 132,156
O S=(15Ho0la23H DI, 225 8)
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O 324 It 2,520
254 01 &f 130,000 1 122 1,560
155014 208018 80,000& x1H «128 960
O NAe22RLY 8,124
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(10,4303 #34A1 2bx 18 %122 )+(9,481& %34 8,124
Al 2bx1H « 128 )
O &g 720
bH < Xt 40,0003 x1H =128 480
JIEHILS 20,000& x1H » 128 240
O x&¥+¥ 30,0003 x1H =128 360
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04 ENSIHRF=EY| 5,280 5,280 0

_20_




2N
X ZH -
L= B
el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O RFAN2IERFEH
(400,000 « 128 )+(5,000& «8H x12& ) 5,280
405 XHoHF S HI 300 1,402 1,102
01 AL ESFH S 300 1,402 A1,102
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AR (52 HASE H«78%)
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ISPl RARs] 294,870,000 *3% 8,847
O d3z2s¢ 16,609,310,000& 1/ 12€ 1,384,110
O 324 etz 441,600
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O IExZ 333,360
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JIEHDLE 20,000& *464H «12& 111,360
= M X4 60,000& x50H x12& 36,000
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O 5= 250,000& x19H x12& 57,000
O 62 155,000& x 118K x12& 219,480
O 72 140,000& x160H 123 268,800
O 892 125,000& » 139K x 12& 208,500
AM3I=ReIE olAd XA 420,000 630,000 A 210,000
= 294,000
T 126,000
101 @144 dl 420,000 630,000 A 210,000
= 294,000
- 126,000
01 2= 420,000 630,000 A 210,000
o == 420,000
O &7 A3l = XA el
420,000,000& 14 420,000
2 294,000
- 126,000
CAMNSD HE#ZH X2 (er24d]) 17,560 17,220 340
= 17,560
101 @14l 17,560 17,220 340
= 17,560
01 2= 17,560 17,220 340
o == 17,560
O HEAMR SR At
17,560,000& =1 17,560
= 17,560
IIERAHSEARA JHl XA (124d]) 52,779 52,811 N32
= 52,779
101 @124l 52,779 52,811 A32
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